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. Find the h of these functions:
@) flx) 4k (@) f)=2¢-3, v (-1,0,1)

(iii) f) =22, x€{~1,0,1,2} (iv) f(x)= X=1,x€(-2,0,2)

3. Say if each of the following relations is a function
@) {(1,1).(2.4),(3,9). (4, 16)}
(i) {a.b), (b, ¢), (a, d), (d. b)}
4. Given that f(x) = 3x ~4, find the values of %
@ f@ () f=3) i) fik) (iv) fax)
5. fix—2r+1 and g: x—x” are two func
Whatis (i) f(4) (i) g(=3) (i
6. fand g are two functions such that
f=2x—1 and g(x)=3x+2.
Find () fo(1) (i) gf(=3) (i) gf(x) (iv) fa().
7. The functions f and g are defined as follows:
fix=2x-1 and gix—sx’ +‘1
Find () fo(=2) (i) gf(3) (i) fe(¥)  (iv) gfix)
For what values of x is gf(x) = fg(x)?
8. f(x) =2x" and g(x) = 3x — 1 are two functions.
@ Evaluate (i) fe(5) (i) &f(-2)
(b) For what value(s) of x is
O f)=gx) (i) fex)=ef®)?
(i) The function £ is defined by f: R— R: x—2x = 3.
For what value of k is f(k) + f(2k) = 07
() The function g is defined by g: x—7 ~3x.
1 kg(~2) = g(24), find k.
) Given the function g: x— ' — x
For what values of ¢ is g(r) = g(20)?

10- The functigng fand g are defined as follows:
fix—1-3x and gix—x -1
) Find fo3) (i) If fg(oe) = 3, find x.

(1 ® 1 defnes a set of couples, where f: x— £VE:

Find ) f9) (i) f(25)-

W state whether or not f is a function.
() Given that f(x) = 3x + 2, show that f(x) + f(y) =fx +3) +2- ]

@ Two fupctions f and g are defined by oy
fix=C and gix—d-x

() Find two values of x for which gf(x) = f8(x)

[ f(x) = x* and g(x) = 4x - 3, find thevallna(['
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